Highlight the key word and the type of
question then answer the question.

What is 7 plus 6 ?

What is the total of 5and 9 ?

Add + Subtract - Add + Subtract -
Answer Answer

What is 6 minus 3 ? What is 12 plus 8 ?
Add + Subtract - Add + Subtract -
Answer Answer

Take 8 away from 15.

Add +

Subtract -

What number is 6 more than 8 ?

Add +

Subtract -

Answer

Answer

Laura has 9 football stickers.
She loses 5. How many stickers
has she got left ?

Add +

Subtract -

Alexander has 10 p and 50p.
How much does he have

altogether ?

Add +

Subtract -

Answer

Answer




Highlight the key word then answer the question.

Alan has 3 pens and Ian has 8 pens. How many pen do they have in total ?

Answer

Eilidh had £ 45. She spent £35. How much did she have left ? s

Answer .......

35 people are sitting upstairs on a bus.
21 people are sitting downstairs on the bus.
How many people are on the bus altogether ?

Answer .......

Siobhan bought a calculator for £15 and a poster for £3.
How much did he spend altogether ? s\

Answer .......

There were 34 grapes in a bunch. Sara ate 13 of the grapes.
How many grapes were left ?

Answer .......

Kelly had 26 CD's in her music collection.
She got 5 more for her birthday.
How many CD's does she have now ?

Answer .......



